
 

 
 

 
 

 

 

 

 

 1.    
 1. Mainzer Minigolf Club e.V 

     KERN Stefanie B  028  031  032  031  031  032  031 =   216 30.86   

     GUNDERT-GREIFFENDORF NicoleB  030  031  027  034  025  030  033 =   210 30.00   

     KOBISCH Alice B  031  031  025  028  030  025  029 =   199 28.43   

     NEUMANN Kathrin B  000  000  000  000  000  000  000 =   0   

      B  089  093  084  093  086  087  093 =   625 29.76   

 

 

 

 

 2.    
 GSP Cusano Milanino 

     FLAMINI Antonella B  029  030  029  030  026  027  034 =   205 29.29   

     MARCHIANI Sara B  031  031  032  032  036  032  030 =   224 32.00   

     BANDERA Anna B  030  028  028  031  033  028  030 =   208 29.71   

     PRINA Lauretta B  000  000  000  000  000  000  000 =   0   

      B  090  089  089  093  095  087  094 =   637 30.33   

 

 3.    
 1. DGC Bystrice pod Hostynem 

     JANDOVÁ Karolína B  031  028  031  040  031  033  032 =   226 32.29   
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     DOLEZELOVÁ Lenka B  031  035  030  030  035  030  030 =   221 31.57   

     PAVELKOVÁ Lucie B  034  032  036  029  033  02411 =   188 33.50   

     KOURILOVÁ Petra B  000  000  000  000  000  010  033 =   43 30.96   

      B  096  095  097  099  099  097  095 =   678 32.29   

 

 

 

 

 4.    
 MGC Leeuwarden 

     VAN DER LAAN Ingrid B  030  030  031  032  030  039  037 =   229 32.71   

     JASPER Annie B  032  031  035  036  029  033  034 =   230 32.86   

     KLARENBEEK Natasja B  029  033  030  035  037  031  028 =   223 31.86   

     VISSER Paulien B  000  000  000  000  000  000  000 =   0   

      B  091  094  096  103  096  103  099 =   682 32.48   

 

 

 

 5.    
 MC Effretikon 

     WEBER Rebecca B  032  034  028  033  030  033  031 =   221 31.57   

     STRICKER Heidi B  036  036  035  033  018  000 =   158 35.55   

     WICKI Maja B  033  030  032  026  037  029  033 =   220 31.43   

     WICKI Esther B  000  000  000  000  018  036  031 =   85 32.55   
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      B  101  100  095  092  103  098  095 =   684 32.57   

 

 

 

 

 6.    
 Bahnengolfclub ROT-GOLD 

     KNOTZER Johanna B  035  032  032  029  032  033  033 =   226 32.29   

     HESCHL Birgit B  032  034  034  030  041  030  032 =   233 33.29   

     KAMMERER Elisabeth B  035  033  030  032  031  035  029 =   225 32.14   

     HESCHL Karin B  000  000  000  000  000  000  000 =   0   

      B  102  099  096  091  104  098  094 =   684 32.57   

 

 

 

 7.    
 Vizelgolfe 

     MENDES Filomena B  031  033  034  035  037 =   170 34.00   

     MICHELA Amara B  044  036  044  035  035 =   194 38.80   

     PEREIRA Anabela B  037  035  034  033  035 =   174 34.80   

      B  112  104  112  103  107 =   538 35.87   

 8.    
 Manse RG 
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     GRANATH Heidi B  036  038  032  036  032 =   174 34.80   

     NIEMELÄ Anita B  035  041  041  042  044 =   203 40.60   

     SOLA Minna B  037  036  039  037  035 =   184 36.80   

      B  108  115  112  115  111 =   561 37.40   
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